PROBLEM 3-63

gKrnowN ! A cloged; rigid dune fitted w.th o revisto~ s Rlled with
Re 6“?:-—%{- 2z, im"fu-UT a Fwo ~phape Liguid- Vaper huxture.
Stote data and operahng data are pronded.

FinD: De,i-erm-\'né the heat Dranr Ler ﬁi"‘_"*‘“ re feige ranTt | oa & T,

SCHEMATIC r civre DATA:

: A e R

: TR22 | E“;j:;;gc r L 4o°C

: V= 0.0lm° ; T:'-: 4._0°C o
: - 0o, / 54~

ENCINEIRING MODEL:

|.The closed sy's-!e;-\ is the R22 plus res.ster,

2. Tha miagyr and volvme o-F +he ‘Fu'he-ware res:ipfor are n?;«h'g-lﬁ-{.g 3
3. Kinetic and P#"‘fh“’la-«f thergy Can be ,‘ﬁmored.

ANALYSIS:
Since tha 4otk mags and voleme of the R22 remsin cous*hu.:t'/

Fbh fr&;‘!erom.-{- Uhc‘-er'jaf.r a conctanT Spfdfv‘c volvue P"Gt'-.'s's_, aF
Show i tea The T-v CL(‘Q?fdm.

An €nersy balance redveces as fellows:

o
CAUjszz + 4 ngwm—) -/—MM: @~
TN

= @ = A-U-]gzz -+ W_ =w‘(q‘-’ul)+w (I)

With date from Takle A-—?’

{L‘n:t&-;-&'f.(uq-u.;) = 33.27 + o-8(223.02 - 35.2%) = 188 07 £3[kS

3
V0= Vee ¥, (Ve-VE)z (0.7606/15°) + 0.8 (0.0652 ~(@.7¢06/n?)) = 0:0523 W les
Tnteepolating wl ToAle A-9 wibh T= 40°C and Vv =V|, U, = 260.33 kT/kg

=Y L o.owd = o.\al kg

The Wass =
Al posiiw [ES

Wit Eq. 2. o P ,
- sz)( gqmF)( Shuh)\ TvolE dwin 4w ID?'I
=-18xy |

Collf'c-l-rr\j results, €4.0) .3,'\“.:
@ = (0191 ieg) 260.33~ ;ss.ﬁ)_g + (~18KT) = —5.s%eJ

Wtk assumplion 2, we assoctade  this heat dranrfa- wifin 4o R22.
Accor dxmjh,} +ie heoad transfe ‘Fl_g_\-\-\ e reﬁ{-’germd o Scdr].



